REASONING 41 24
Thursday, January 4, 2024 9:28 A

'L/ﬁ (’7’)\ fL)
- (1A
L /\I,L
\%
[0, n 1. — — - 99 %%
o 4+ (42 _ﬁ;,,
(Q
v ~/ e . l% J
10 K 1L —
"o 21 27, — = 29 q(/
%0 I 32(,7,/‘_ ' q':c'j o
4O L(‘ = /_/‘ _ ;;—j
E— - |} )
01/0_,0(—‘ G L - ~ ’ﬁ% Yy -~
TP (5 -
(+1--49) )"D('{D o,((«ru—"*c') ¢ -
L R -~k mS )17;3/
_ hoS (4

\1)’0"' \'“3/4' ,A’O’\’D
- 8%

Lol 402 F15 1 +15 T 6417 F1k)q
Lo /OfoFZ—fr’3, 4— — - & )xlo



vy e r e vV \ ) ' - 7/
_1gb (OFH#l4-3 4— — - F4)xIO




z
‘ V%/w
Q)ﬂvw/ v~ W/
DS
D

SO




=) N

| D
/ OL(XLI






’],
I )
A 24, 1r

ok 7/\

—

,L‘( 7
LN

L M(«PQ’,,’U %jc

’a/l,’

MY
?-ll"( /)r —)

L T
s

{

9177

vl



